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PART - |
Physics Jiferes yrer

1. Aninsect trapped in a circular groove of 1. =5 SISl uk gi @i | ekt e
radius 12cm moves along the groove 12cm ¥, %8 T 8| 98 @i & ey e
steadily and comple_tes 7 revolutions in 7ot & it ¥ 39K 100 e § 7 SR A
100 seconds. What is the angular speed .
and linear speed of the motion? ofelT &1 skl shi shivffer =ITer o ek et

fepat gt
A- 0.44rad/s and 5.3cms™!
A 0.44rad/s and 5.3cms

B. 23rad/s and 5.3cms™ B )
* 2.3rad/s and 5.3cms

C. -2 -1
0.44cms “ and 2.3cms C. 0.44cms 2 and 2.3cms ™t

D. 53rad/s and 2.3cms 2 D. 53rad/s and 2.3cms2
2. Aparticle is kept at rest at a distance R 2. U T R Jeat T Tag ° H R (Feat A

(earth's radius) above the earth's surface. frsam) gt o for e St 81 =gan
The minimum speed with which it S "\a NG > &
should be projected so that it does not et SRR fepart T
return is- efTfeh 21 STt =T AT o7
A [GM A [em

4R 4R
B. [GM 5 [em

2R 2R
C. [GM C [em

R R
D. [2GM D. 26m

R R
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3. Which of the following plots may 3. foreft fod TTq wepr o wantfet forea am (i)
represent the thermal energy (U) T Sl 8 Sea=t a3t (U) o o=

produced in a resistor in a given time as .
. . . Hetyr yaf3fa SUH A5k BTI-
a function of the electric current (i)? hi el AP

A. curvea A Tha

B. curveb B. b

C. curvec C. 3 e

D. curved D. ahd

4. A moving charge produces- 4. T T ST 3 HT 8-

A. Electric field only A. T foma &=

B. Magnetic field only B. e eehia &=

C. Both of them C. aai &

D. None of them D. T g &s oft 7
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Tritium is an isotope of hydrogen whose
nucleus triton contains 2 neutrons and

1 proton. Free neutrons decay into
p-+€+V. If one of the neutrons in triton

decays, it would transform into He®
nucleus. This does not happen. This is
because-

A. Triton energy is less than that of a
He3 nucleus

B. the electron created in the beta
decay process cannot remain in the
nucleus

C. both the neutrons in triton have to
decay simultaneously resulting in a
nucleus with 3 protons, which is not
a He® nucleus

D. because free neutrons decay due to
external perturbation which is
absent in a triton nucleus

Unit of magnetic flux is-
A. Debye
B. Henry
C. Weber

D. Rutherford

TSTEaH BISEISH T Ueh T & fSdeh
¥R grgef & A = TR T M &

T =g p+ € + V. § fomfed & 5 2
Afe 215 o a1 =g H foret Th =g 1
forerest Brar, @t ag He® =ifirer § wur=afid &
ST, 9] U &1 I i oh-

A erd i et He® e & et &
FH Bt &

B. B -forered gfsham & 3e9 Soidre A ATMeh
& offeR T T8 "ehat

C. Z15H | aHT =g wror-Hy fomfed
Brd & e Berea®y o TIeHT Sl Tk
rfireh srrar & st He® fires =&t €ar

D. Rifeh qch =L SITeT &I 6 SHROT
ferefe 2 & ofiT zredt ifore & o
=g E &
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Figure presents plot between current |
and magnetic flux ¢g . Correct relation

between | and ¢g is represented by:

©c o w »
o

Consider the situation of figure. The
work done in taking a point charge from
Pto Ais Wy, fromP to B is Wg and

fromPto Cis W -

C':_f:'-r- Sli.r.-_ A op
. r

A. Wp <Wg <We

B. Wp>Wg =W

C. Wa=Wg=Wc

D. WA<WB =WC

TR T G TS U [ 7e AT
yafkfa 81 STH & ¢p 3TN [ Hed well walg
yafRfa s -

g

o o w >
o

et T fer ot ferforalt o e <) W foig
AT HI P T A qh A | ot mam vk

Wy, P8 B & @ | foRam T st W,
3P & C 7% oM § R mm e W -

A. WA<WB<WC
B. WA>WB:WC
C. Wp=Wg=W¢

D. WA<WB ZWC
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10.

11.

12.

A body is falling freely under the action
of gravity alone in vacuum. Which of
the following quantities remain constant
during the fall?

A. Kinetic energy
B. Potential energy
C. Total mechanical energy

D. Total linear momentum

Two slits are made one millimeter apart
and the screen is placed one meter away.
What is the fringe separation when blue-
green light of wavelength 500 nm is
used?

A. 5cm
B. 1cm
C. 5mm
D. 0.5mm

Taking the Bohr radius oy =53pm, the

radius of Li®" ion in its ground state, on
the basis of Bohr's model will be about-

A. 53 pm
B. 27 pm
C. 18 pm
D. 13pm

Which of the following particles will
describe smallest circle when projected
with same velocity perpendicular to a
magnetic field?

A. Electron
B. Proton
C. He+
D

Li*

9.

10.

11.

12.

T U MHald # et Tecdl o ST
TAAATYEsh TR TET 8| 38eh i o SR
frfefiad & @ shiF-dt TRT =R &dt 82
A. TSt 3T

B. fufas 3=it

C. itk 3l

D. el W Hor

ar farfir 1 refieier g arms % § st me
shi Teh Hiet g1 1@ 7T €| Toht SAaered fohar
BT ST 500 nm FTee 1 felT-gr Jehrer
TR | AT STt 82

5cm

lcm

5mm

0.5 mm

o w>

SR BRI 09 =53pm wid gL, IR HTSA
¥ SMmeR W Lit st Y, 3o freram
FrereeT |, B gnft emT-

53 pm

27 pm

18 pm

13 pm

Tk T ST & eehIe &1 o e foRm #
eIt 3 ot § ¥ fopereht gfvr s
AT BRIT?

A. AR
B. WiEH
C. Het
D

o w>

Lit
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13.  Deflection produced in a moving coil
galvanometer by current | is 6, then-

A. l o (tan 6)2
B. a6

C. a2

D. 1ab

14. A bullet of mass 20g is horizontally

fired with a velocity 150ms™ from a

pistol of mass 2 kg. What is the recoil
velocity of the pistol?

A 15ms?

B. _15ms?

C. -1

sms

D. 1

-5ms

15. The net external torque on a system of
particles about an axis is zero. Which of
the following are compatible with it?

A. The forces may be acting radially
from a point on the axis

B. The forces may be acting parallel to
the axis of rotation

C. The torque caused by some forces
may be equal and opposite to that
caused by other forces

D. All of above are true

13.

14.

15.

T Il HUSe IRHT § [ 4R JaTfed i
¥ 0 fo& 3eo= g &, -
A g (tan 9)2

B. lab

C. IOLO2

D. Iom/@

2 kg o e fUeet © 20g S| il Th

eft 150ms ™1 % Sferet 3 & B Sl &)
foeeet & o1 B2 o 9T o1 IiahaTd fohaHT
BT

A 15ms?
B. _15ms™?

C. 5ms_l

D. 1

-5ms™

Tt o Torwlt Triehmar ot ol 3787 o afia: =2

SITeT S ATV S 2| freferfiaa # shi-an

U T |1 FE 82

A. 38 31e7 T foreht foig @ et Brsara: w6
T2 B Eehl &l

B. o o 3787 % HHicR SRR & R ol

C. TS Al o HRU I TV, F A
ST o ST ST HATEIT o6 ST T
ferrdiar &1 ek @

D. 37 g+t gca 8
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16. A cricket ball of mass 150g moving

with a speed of 126 kmh™ hits at the

middle of the bat, held firmly at its
position by the batsman. The ball moves
straight back to the bowler after hitting
the bat. Assuming that collision between
ball and bat is completely elastic and the
two remain in contact for 0.001s, the
force that the batsman had to apply to
hold the bat firmly at its place would be-

A. 105N
B. 21N

C. 1.05x104N

D. 21104 N

17 A water drop of radius 107%m is broken

into 1000 equal droplets. (surface
tension of water is 0.075 N/m) The gain
in surface energy is-

A. 6.5%x10%)
B. 65x1074J
C. 85x10%
D. g5x1074J

18. A battery of emf e and internal
resistance 'r' is used in a circuit with a
variable external resistance R. Value of
R for which the power consumed in it is
maximum will be-

A Jr
B. r

C. 2r
D. /2

16.

17.

18.

126 kmh ™ ¥ =ret & =reret g€ 150g
Y sl Ueh Tohane Tie, Seateltst g7
TEATIE Uehs TTT Sieet o Sfieil-aftel Zeharel!
2 Tt T TR TiE HTEt TgaTsT sl 3T
e STt 81 I8 A BT foh 778 3R et
sffer WErg quid: WedTey § SR A ST 0.001s
o foTT urEafies dush 0 T&d €, a8 a1 S
SETETS! T ITHT SoclT SEaTIaeh ThS T
o ToTT @ 3raryareh €, 9 &-

A. 105N
. 21N

B
C. 1.05x104N
D

2.1x10% N

Tt T Uk TR 33 i Brar 1072m #
IE 1000 TSR a1 H T2 AT & [T T I8
T 0.075 N/m §] 30T I8 w1l § Jred

1 -

A. 65x10%]

B. 65x107
C. 85x10%]
D. g5x107%J

AR TfaQer r qem e o7, ar. et It
ot uftardt amer wfotier R Y wemrar & o=
foret afoar &, R F g A s o R ¥ e
31feh 3TfRreRaw arfi?

N

A

B. r
C. 2r
D. 12
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19.

20.

21.

If a person jogs at average speed he

produces 14.5x103cal / min. heat. This
is removed by the evaporation of sweat.
The amount of sweat evaporated per
minute (assuming 1 kg requires

580x10%cal for evaporation) is-

A. 0.25kg

B. 2.25kg

C. 0.05kg

D. 0.20 kg

Figure shows some of the electric field

lines corresponding to an electric field.
The figure suggests that-

:\\—B_%:
A > . > C
—
EA>EB>EC
EA:EB:EC

EA:EC>EB

©c o w >

EA:EC<EB

Monochromatic light of frequency
6.0x10'*Hz is produced by a laser. The

power emitted is 2.0x10">W. How
many photons per second on an average,
are emitted by the source?

(h = 6.63x10734Js)
A 41010

B. 4x10%
C. 5x109
D. g5x10%°

19.

20.

21.

gfe IS =afch G T § <cdr & dl 98

14.5%10%cal / min. FHT 3T AT 2| T8
ST e o T § IR § emet STt €1
(I T T TR 1 kg € o Ao o fog

580x10°3cal =few) a« wfd fire anfoua

. 0.20 kg
ferelt ferera & o % forggd ot wad femr o
yaf¥ia 21 for & e -
—~~__ B
A V C

I —
- @

EA>EB>EC

Ep=Eg=Ec

EA:EC>EB

©c o w >

EA:EC<EB

6.0x10M Hz @1rafr i1 Thaff geprer forelt
TR % G ST TShaT STTAT )| Scesi 1T

2.0x1073W | Bd % gy 3 a0
g Tehg ford W 3cafSid gld 87
(h =6.63x10734Js)

A 4x1010
B. 4x10®
C. 5x109
D. 5x101°
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22.

23.

24,

25.

The bluish colour of water in deep sea is 22.

due to-

A. the presence of algae and other
plants found in water

B. reflection of sky in water
C. scattering of light
D. absorption of light by the sea

A small telescope has an objective lens 23.

of focal length 144 cm and an eye piece
of focal length 6.0 cm. What is the
separation between the objective and the
eyepiece?

A. 24mm
B. 24cm

C. 150mm
D. 150cm

A particle is acted simultaneously by 24.

mutually perpendicular simple harmonic
motion x =acoswt and y =asinot .

The trajectory of motion of the particle
will be-

A. anellipse

B. aparabola
C. acircle

D. astraight line

In a permanent magnet at room 25.

temperature-

A. magnetic moment of each molecule
IS zero

B. the individual molecules have non-
zero magnetic moment which are all
perfectly aligned

domain are partially aligned
domains are all perfectly aligned

O 0

TEX AHE H Sfet ot 47 et faas & o

T &-

A. S Siaret it Jufkerfa qor 1= dre
it Sufufa

B. STl H 7RIS o W

C. JehTST T JhiviT

D. E9E ST FehTRT T SO0

foreft 1T el oh STfirgzereh shl Hrohd gt

144 cm T T T Wied g 6.0 cm &

ATvgIsh T AR o6 sfter g g o

32

A. 24mm

B. 24cm

C. 150mm
D. 150cm

T 0T T T& |1 &1 TR e 80t
3T AT X = acoswt Td y =asinot
AT B 3 o1 i 71f AT T

eh el €
T TS BT
T 9 7T
T T T arft
SHHY o AT O TRt TorrRlY =pwareh -
A. T 3] T TR ST S BT &
B. @ STeTT-37eTT T[T o IR
B 8
C. %3 S 3731q: Tfad 81 &
D. &t S qua: #figa & &

o o w >
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26.  The ammeter shown in figure consists of 26.

a 480Q coil connected in parallel to a
20Q shunt. Reading of the ammeter is-

140.8Q2

WW—B)

27. Electric current required to deposit 27.

© o w >

20v
1.25A
0.125 A
125A
0.0125 A

0.972g of chromium in three hours is:
(ECE of chromium is 0.00018 gC™1)

A
B.
C.

D.

28. With propagation of longitudinal waves 28.

25A

5.0A

0.25A

0.50 A

through a medium, the quantity
transmitted is-

A

matter

. energy

B
C.
D

energy and matter

. energy, matter and momentum

e H wefRia sttt 480 Q) i Fueel wd
20Q) e O G A § GAifSd 2 3THiex
T YerTfed G ot /I SrTl-

140.8Q

wWwWw—=@®

20V

1.25A
0.125 A
125 A
0.0125 A

O 0o w >

o 51 T 0.972g ShITHT 3TT&IT ITH i
2 feherft ferera em <t strarvarera grft?
(GhITHE T Torgld T qoaieh o :

0.00018gC ™)

A. 25A
B. 5.0A
C. 0.25A
D. 050 A

fereft mTere o STee i o W € S
A 3

B. Sl

C. 3ol Ud 5

D. i, 57 Ud Ga
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29. A ray of light incident at an angle 6 on

30.

a refracting face of a prism emerges
from the other face normally. If the
angle of the prism is 5° and the prism is
made of a material of refractive index
1.5 the angle of incidence is-

A 75°
B. 5°
C. 15°

D. 25°

In a Young's double slit experiment, the
source is white light. One of the holes is
covered by a red filter and another by a

blue filter. In this case-

A. there shall be alternate interference
patterns of red and blue

B. there shall be an interference pattern
for red distinct from that for blue

C. there shall be no interference fringes

D. there shall be an interference pattern
for red mixing with one for blue

29.

30.

foreft fSrsm o ek 3T9adss Betsh TSI O
ST BT STafrd €1 STt Teh Fohre foheor
fSrsw o1 shivT 5° & e fisw 1.5 STuad-is
o Ut T ST &, AT ATIAH 10T &-

A. 75°
B. 5°
C. 15°

D. 25°

31 o Teferd i o i Ad TekTeT 1 81 TR
fesz =l ATt foheet & @ foarm 7T © e gt
&1 it fhoet @ eon fourm ma € 59 srereen
il

A. AT qAT et T o TehTaT A ohToT
o g

B. T T et {T o Jereh-Jreh Geas
fereRToT Y gy

C. s ¥t safaeror kst 72 gt

D. T O ¥ 7 A fqeror e fia o d
o e @ fufe g
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31.  One end of astring of length £ is 3L

connected to a particle of mass m and
the other to a small peg on a smooth
horizontal table. T is the tension in the
string. If the particle moves in a circle
with speed v the net force on the
particle (directed towards the centre) is-

A. mv2

T-—
L

B. mv2

T+——
L

C. T
D. 0

32. The equivalent capacitance of the 32.

combination shown in figure is-

1

— C |—

T

C
A. 3C
B. C/3
C. 2C
D. C/2
33.  Speed of sound wave in air- 33.

A. is independent of temperature
B. increases with pressure
C. increases with increase in humidity

D. decreases with increase in humidity

£ T 6 Tk SRT 1 T o m Hefa &
opelt 3hoT & oIt e Ry ferereft ffert ot
T AT G STl TSR H A € Ffe
T v AT | I H IF AT § T hT I

(G o i Ffr e e -

A mV2

T

o 1 et ieter 1 g e &-

C

@)

3C
C/3
2C

c o w >

C/2

AR H Taf 3 I Al =T-
A. A9 I T T et
TSl % BT sl &

B.
C. FedIsel dagdra
D. 3TsdT ag- ¥ Tedt @
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34. A 20 cm long capillary tube is dipped in

35.

water. The water rises upto 8 cm. If the
entire arrangement is put in a freely
falling elevator, the length of water
column in the capillary tube will be-

A. 6¢cm
B. 8cm
C. 10cm

D. 20cm

A mild steel wire of length 2L and
cross-sectional area A is stretched, well
within elastic limit, horizontally
between two pillars (fig). A mass m is
suspended from the mid point of the
wire, strain in the wire is-

34.

35.

Tk 20 cmﬁ%ﬂﬁ&ﬁﬁﬁgﬁﬁm
ST &1 9T 8 cm T &G SITaT 8 AfS 39 o
SIEYT ! T ¥ & T aneft forve & @
STTAT & QT oh3T Fedt § U1 o &Y T oferg
-

A. 6cm
B. 8cm
C. 10cm

D. 20cm

SIS 2L, SIS I GTheA A o forelt g
TETA o AT ol SEeh! JeITerdT €HT o ot
1 Tl 3 i &xfarsra: arfra foram ST &)
1S 5eaAT (FeT) m 8o 7 foig o
feretfora fepam strar ) /e o ferpfer -
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36. Which of the following statement is 36. fr=fetfad TepemT & & HiF-a7 et 87
? .
correct: A. ke gfe aret safeh oF ot aeqatl
A. A person with myopia can see WY 3G gHAT
distant objects clearly )
. . B. dTef gft aren sufth urer s aeqati s
B. A person with hypermetropia can S 5 s
see nearby objects clearly Hehdl
C. A person with myopia can see C. frfe gfg amem ) ! ?'BWﬁaﬁﬁaﬁ
nearby objects clearly TIE W Wkl §
D. A person with hypermetropia cannot D. aﬁgf\gwaqﬁﬁagaﬁaﬁfaﬁaﬁw
see distant objects clearly Ie e@ gahdl
37. Which of the following is unit of time? 37. frmferfad ® i a9 1 9T 82
A. Year A. T
B. Light year B. eI ay
C. Parsec C. U&®
D. All of above D. SWis axft
38.  Water waves produced by a motor boat 38. ST W werct WIS gRT Scd~ St -
salng inwaterare A, i et At s
. neither longitudinal nor transverse . )
B. both longitudinal and transverse B. <9 R 9 .aﬁtﬁgﬁ?ﬁ%
C. only longitudinal C. e Frjeed Bl €l
D. only transverse D. e ST B B
39.  An aluminium wire of length 50cm and 39. 50cm @ TE 20 mm? ST e
cross sectional area 20mm? has SAH Tl TRIHTIT 3 a3t Sferresrar
Lo -8 !
res!stlwty p= ?.6>_<10 Qm. The o= 2 6x10~80m | ar & yfere 2r-
resistance of wire is-
A. -3
B. 6.5X10_2Q B 6.5X10_ZQ
C. 13x10 0 C. 13x10 0
D. 13x10%0 D. 13x102%0
SPACE FOR ROUGH WORK / T @t & forar srire
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40. Hole is-

an anti-particle of electron

a vacancy created when an electron
leaves a covalent bond

absence of free electrons

an artificially created particle

41. The radius of curvature of the curved
surface of a plano-convex lens is 20cm.
If the refractive index of the material of
the lens be 1.5 it will-

A.

act as a convex lens only for the
objects that lie on its curved side

act as a concave lens for the objects
that lie on its curved side

act as a convex lens irrespective of
the side on which the object lies

act as a concave lens irrespective of
side on which the object lies

40. SerEari.

41.

A

TAFSI T TfehoT

TEEAISH ST U Teh Feior ™ g feveeh
ST W 3ca—T i

7 FoAT i sy

e 1 & Gl

foref et 3OS <iel o aish I h skl
PIsaT 20cm 2| A <18 o waTel &
YA 1.5 &1, a1 I8

A

3 fofelt o foTq & St <@ <t ot st
ST ST 56k dfsh 9T shi 37T feora &

Ffsha T Sl 3R feora fofa &6 forw
HAIdA A ht wifd Hrf swam

39 &7d o1 419 T fomm o fofel @eh
forer s <Y o1 feora €, S S it
wifq s sham

39 o1d o1 &4 Ty form fop fofer suan
forer mT <t 3T feora €, Stade da i
ife sl s
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42.

43.

Four pendulums A, B, C and D are
suspended from the same elastic support
as shown in fig. A and C are of the same
length, while B is smaller than A and D
is larger than A. If A'is given a
transverse displacement

ol o]

K

A. D will vibrate with maximum
amplitude

B. C will vibrate with maximum
amplitude

C. B will vibrate with maximum
amplitude

D. All the four will oscillate with equal
amplitude

A charge Q is uniformly distributed over
a large plastic plate. The electric field at
a point P close to the centre of the plate

is 10Vm ™. If the plastic plate is

replaced by a copper plate of the same
geometrical dimensions and carrying
same charge Q, the electric field at the
point P will become-

A 20vm™
B. 10vm™

C. 5Vm_l

D. zero

IR Al A, B, C T D T & IAEY
TR ol o TR Aehr T €| A T
C ol oIS T &, B AT e A T A ©
Seifeh D Y e A @ 3rferes 1 afe A
ek ST foreermo fear s

6] (I:IBJ\D

D

A. D 3f&rehds ST & AT ST
B. C 3fUehdd TR o il T
C. B 31fUrehas 3T & Sl U

D. @ (AT) SActsh THH 3T o S
ST

Teh S8 TTREEeh Wid W Q AT Ueh GH
77 9 forafta 81 wie & % o fene o

forg pw forgga & 10vm L B afe g
TATIEE I 2l I SR T §H
e fomm amet o & wre & foenfia
feperm STQ at fareg P ot foregar &t shi eftera
gl

A 20vm™
B. 10vm™!

D. zero

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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44,

45.

An electric dipole is placed in an
electric field generated by a point
charge-

A. The net electric force on the dipole
must be zero

B. The net electric force on the dipole
may be zero

C. The torque on the dipole due to the
field must be zero

D. The torque on the dipole due to the
field may be zero

A body is moving unidirectionally under
the influence of a source of constant
power supplying energy. Which of the
diagrams shown in (fig) correctly shows
the displacement-time curve for its
motion?

A. d

4
t—

B-d

?
t—

C. d

4
t—

D. d

r
{—

44, fordlt Tolg STaleT gI0 3o forgre & 4 1@

45.

o e

A. Tt forega o1 1 7 3 2

B. & foRId et o1 7 ¥ & b1 &
C. M 3Tl et ATt ot 7 3= 2

D. & ATl &t STH0 ol 01 I &l
THAT &

e fife forelt frera w1fer remres it &id 6
T H U e H <ot @i 8 o -
T 3T@ $HhT 71Tl o1 T foreerma-a7
T &7
A d
)
t—
B. d
4
t—
C. d
)
t—
D- d
r
t—

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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46.

47.

An ideal gas undergoes four different 46.

processes from the same initial state
(fig). Four processes are adiabatic,
isothermal, isobaric and isochoric. Out
of 1, 2, 3 and 4 which one is adiabatic.

| =
1 2

>
—_— V
A 4
B. 3
C. 2
D. 1
The conductivity of a semiconductor 47.

increases with increase in temperature
because-

A. number density of tree current
carriers increases

B. relaxation time increases

C. both number density of carriers and
relaxation time increase

D. number density of current carriers
increases, relaxation time decreases
but effect of decrease in relaxation
time is much less than increase in
number density

1S TS T Teh & TR STTEAT & IR
0o farfvr=t WehHT & eIt @ (o) 3 =)
TehH 8- BESTSH, FHATY I, FHETS Y Ud
TrEaial 1, 2, 3 A4 T H -
TGS 7

] =3
1 2

— V
A 4
B. 3
C. 2
D. 1
am ¥ gfeg o foret steiaersh shi ametehar §
g T FROT I% & fof Teh GraTeshi -

A. &I I ¢ ST @
B. farsrifa ot 5ig ST &

C. ©E&1 gdca a0 faifa et S ol
SIS

D. TEHT gcd oI ST 8 3 fersifer shret
T2 STaT 8| R faeifaehter o1e o1 3/R
T 5ed Sa o IS o HH BIdT1 8

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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48. A set of atoms in an excited state 48. IS ST H AT I T 998
decays- foerfea gar 2-
A. in general to any of the states with A. T e et i ferdt oft
lower energy STIEIAT I
B. into a lower state only when excited B. U fiTat 31a€T a0k haet a¥ft 9 ek
by an external electric field el forera & g St fRa T a
C. all together simultaneously into C. fod ot ue drer ueh et s o
lower state IR
D. to emit photons only when they D. I 378 Bl shadl a¥t Scafsid &id &
collide STe 3TH Gog BT 8
49. A circular coil of radius 1.5 cm carries a 49. 1.5 cm Brea % et Fuselt # 1.5 TEaR
current of 1.5A. If the coil has 25 turns, T YaTfed 2| A Fueel § 25 B E ar g
the magnetic field at the centre is- Wﬁ%%wﬁ;ﬁa -
A. 157x107 Tesla A, 157%10°3 dHer
B. 1.57 X10_3 Gauss B. 1.57)(10_3 ]-ﬁ—g-
C. 1.57x107 Tesla C. 1.57x1078 ¥wm
D. 1.57x107% Gauss D. 1.57x1078 #fw
50.  Which of the following statement is 50. oy ¥ A hTRT 6 fafir= il o wehTer o
correct regarding the propagation of e & ey § efifag 8 9 Sa-ar
light of different colours of white light ;
in air? ST e €7 .
A. Red light moves fastest A. ST ST FA l.ﬁﬁw e
B. Blue light moves faster than green B. ”ﬁcﬂ,s' T A s e it
light T T AT &
C. All the colours of the white light C. & Wb o wuft o SH =1t & T
move with the same speed A 2l
D. Yellow |Ight moves with the mean D. AT TehTST STt T ST TahTer shl
speed as that of the red and violet T T | T T S
light
SPACE FOR ROUGH WORK / T @t & forar srire
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51.  Where should an object be placed in 51. fopwft fofer oAt Qe fereh eIm WU WISt ST
front of a convex lens to get a real fcfeier ST & o ToTT foie bl 3t oiF
image of the size of the object? AT S
A. At the principal focus of the lens A O ¥ T B O
B. At twice the focal length B. By e &y e e ot
C. Atinfinity C. 3IHq UL
D. Between the optical center of the D. ¥ % YeRIfRTeh s T & BIshd o

lens and its principal focus e

52. If abody is charged by rubbing it, its 52. ot fuvg o1 TTg T AR i 0y, fuvg

weight- T Y-

A. remains precisely constant A. quf@Efdd @

B. may increase or decrease slightly B. mqﬁmwg}m%
C. increases slightly C. maﬁzgﬁTﬁ

D. decreases slightly D. 7 AT i Y gnft

53.  Let the magnetic field on earth be 53. AT ifST foh geaft W <rerehi & qoaft 6
modelled by that of a point magnetic F2 YT forq =i f3ea o T 2T
dlpo_le at the centre of earth. The_angle SR Teaa 99 3 Rrdt e qoafy
of dip at a point on the geographical v e 2
equator- HI0T-

A. can be zero at specific points A, fafire forgatt ot v &1 Wt &
B. can be positive or negative B. €T STUET UM & Tehdl &
C. is bounded C. Ui Brare

D. All of above D. 3w aeft

54.  Three capacitors of capacitance 6 uF 54.  6uF it enfiar 3 o Herfer fe o @)
each are available. The minimum and HATSH shT HATHehad Td =Tad §We i
maximum capacitances, which may be arfr-
obtained are-

A. 6uF, 18uF B. 2uF, 18pF A. 6pF, 18uF B. 2pF, 18uF
C. 2uF,12uF  D. 3pF, 12pF C. 2uF,12pF D. 3pF 12pF
SPACE FOR ROUGH WORK / T @t & forar srire
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55.

56.

S7.

Two satellites A and B move round the
earth in the same orbit. The mass of B is
twice the mass of A.

A. Speed of A and B are equal

B. The potential energy of earth +A is
same as that of earth +B

C. The kinetic energy of A and B are
equal

D. The total energy of earth +A is same
as that of earth +B

Which of the following phenomena of
light are involved in the formation of a
rainbow?

A. Reflection, refraction and dispersion

B. Refraction, dispersion and total
internal reflection

C. Refraction, dispersion and internal
reflection

D. Dispersion, scattering and total
internal reflection

When a nucleus in an atom undergoes a
radioactive decay, the electronic energy
levels of the atom-

A. do not change for any type of
radioactivity

B. change for o and B radioactivity
but not for y -radioactivity

C. change for o -radioactivity but not
for others

D. change for B -radioactivity but not
for others

55.

56.

S7.

31 IWIE A R B Teh & el H qeall ohl
qRehHT SHLd 8| B 3T SeTdH A o Seqq &l
AT &

A. AIRBHR IfGEE

B. Tt +A & Reurfast Swif geaft +B
fearfast it o oo &

C. A 3R B & nifest et sren @

D. et +A & Fd Sl geat +B o TR
g

SEUY S H ThTRT 36T hi-6t aiEreATd
gftafera gt 82

A. TS, STuEd qe frgder

B. 37darc, ferardor e qut sifieh e
C. 3TdacH, foraror qer sAfafes wrad
D. fereraor, wehtof e qut St s

St fopeft ooy o 1Tk ot eafea

ferere e & ot TR 3 SRR STt

Tl 3-

A. TRl oft yerr &t teamforeaar & forg
IS afard &t grar

B. o U pfeaufaesdn & fore uftad
e T g

C. o IfeafFeadar & fou uiEdT 8id &,
T 31 o fore e

D. B feaieforsar & forg uftada g 2,
T 31 o fore e

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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58.

59.

60.

A child is standing in front of a magic 58.

mirror. She finds the image of her head
bigger, the middle portion of her body
of the same size and that of the legs
smaller. The following is the order of
combinations for the magic mirror from
the top-

A. Plane, convex and concave
B. Convex, concave and plane
C. Concave, plane and convex
D. Convex, plane and concave

Lenz's Law follows law of conservation 59.

of-

A. Momentum
B. Mass

C. Charge

D. Energy

Consider the following two statements: 60.

A) Kirchoff's junction law follows
from conservation of charge.

B) Kirchoff's loop law follows from
conservative nature of electric field.

A is correct but B is wrong
B is correct but A is wrong

Both A and B are correct

O o w>

Both A and B are wrong

IS ST foheft STgs ador o W @St 8| 98
IE 3T & foh 3ok uffsla o et fex are,
3Gk IO T T T TS § TH qT T
BIe fewd 2 Bfsrer gdor § 3fis & gdor o
TSI T ohH T 27

A. GHAA, 3dd, Addd

B. 3dd, 3ddd, 9HdT

C. 33Addd, 9Hdd, 3

D. 3, 9o, 3Tadet

st o T3m e @8-

A. T HTE0T & e 0T

B. FoIHM W& o fam

C. AT |eeqor o g

D. 39 €teor & fem w

fre < et W foem feRfaTe;

A) TR st @ty fam ey getor
{3 o e g 2

B) TRt o1 Frrert 31T wieeqor fem &
ITH BT 2

A. (A)TEE IR (B) T @

B. (B)T&Ig 3N (A)Tad©

C. a1 (A) 3R (B) T &

D. 2MI (A) 3T (B) Taid §
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PART - 11

Chemistry ASIRERIC)
61.  An example of a sigma bonded 61. wsh fomm sty rsternfearsh JfiTeR T IaTEIUr
organometallic compound is- =
A. Grignard's reagent A. e sfiyeds
B. Ferrocene B. U
C. Cobaltocene C. ey
D. Ruthenocene D. FAITEH
62. Silver can be separated from lead by- 62. =it ot fo@ @ ST o ST HehelT 2-
A. Distillation A, AEaT
B. Amalgamation B. fismr
C. Filtration C. B
D. Cupellation D. FURH
63. Radio carbon dating technique is used to 63. e el S derfien ST ST foRmeht
estimate the age of- STRY <hT STTAT T 3 For fofarm ST 22
A. Rocks A. TR
B. Soil B. fugh
C. Fossils C. Sfamg
D. Buildings D. YA
64.  Which of the following is a buffer 64. frafeiad o @ i a1 T foeram 82
solution?
A H,50, +CusO, A. H,S50,+CuSO,
B. CH3COOH +CHyCOONH; B. CH3COOH +CH3COONH3
C. NaCl+NaOH C. NaCl+NaOH
D. CH3COONa-+CH3;COOH D. CH3;COONa +CH;COOH

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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65.

66.

67.

68.

69.

If 30 ml of acid is neutralised by 15 ml
of 0.2 N alkali then the concentration of
acid is-

A. 04N

B. 0.1IN

C. 0.3N

D. 0.15N

The oxidation state of Cr in CrOg is :-
A -6

B. +12

C. +6

D. +4

Inhibitors binds to the active site of the
enzyme is an example of:

A. Allosteric inhibition
B. Feedback inhibition
C. Uncompetitive inhibition

D. Competitive inhibition

Arrhenius equation is shown by
following-

A. K _ pGRTIE

B. ka=eE/T
C. k=peERT
D

. A~ KeEIRT

Lecithin is a-

A. Polysaccharides
B. Protein

C. Nucleic acid
D. Lipid

66.

67.

68.

69.

gfe 30 fiedl. S/ A1 0.2 N & 15 faet,
o 3T ToRaT STTT & Y 37eeT ohY | &-

A. 04N
B. 0.IN
C. 03N
D. 0.15N

CrOg H Cr 3T STTeRTohT0T 3T 2-
-6

>
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70.

71.

72.

73.

H,S gas changes a filter paper dipped
in lead acetate solution into-

A. Black
B. Red

C. Green
D. Yellow

Which of the following does not show
optical Isomerism?

A Teo(en) "
% [co(en),cl, ]
© [Co(NHg),Cls]"
P [Co(en)Cly(NH), |

Which metal can be purified by
distillation?

A. Cu
Ag
C. Fe
D. Hg

@

The chemical formula of Calamine is-

A. ZnCO,
B. CuFeS,
C. Cu,O
D. ZnO

70.

71.

72.

73.

H,S 18 oie THide & =it § g §U ftheet
YT T g At 2-

A.
B. @&
C. &

D. dfer

7 & O &4 JehTfTeh aeTagear el gsar
&2
A

B. r

C.r

Co(en)3]3+
Co(en), CIZ}+

CO(NH3)3 C|3i|0

D.

[Co(en)Cly (NHz), |

fopr 9T b TR T ST 37e okt ST
FHAT &7

A. Cu

B. Ag

C. Fe

D. Hg
ShETTHTE 26T TETAF § 8-
A. ZnCOg

B. CuFeS,

C. Cu,0

D. ZnO
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74.  For which orbital value of Azimuthal

75.

76.

77.

quantum number (£) is 1?
A. s-orbital
B. p-orbital
C. d-orbital
D. f-orbital

Contribution of VSEPR theory in which

of the following molecule is-

A. KCI

C. H,0

D. CH,

Which does not show Allotropy?
A. N
P
C. Sb
D. Bi

@

The fastest SNl reaction is of the
following:
A. MeO-CH, -ClI

B. Me-CH,CI
C. 0
[
Me—-C-CH-CI

D. Ph—CH,-CH,—Cl

74.

75.

76.

77.

forg erifefeet o forg ferreft g (£) wram

1 T ?

A. s-3TTfeled
B. p-fifeleat
C. d-Tfeea
D. f-3ffefeat

VSEPR f8ear=a st Jie fAwiferd o forer

ST 2
A. KCI
B. MgSO,
C. H,0

D. CH,

e o & e o S\1 ERIERGINS

A. MeO-CH,—Cl

B. Me-CH,CI
C. ')
[
Me-C-CH-CI

D. Ph—CH,-CH,—Cl
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78.

79.

80.

81.

82.

Which of the following is obtained by
hydrometallurgy?

A. Copper
B. Gold
C. Silver
D. All of these

Radioactive has an unstable nucleus and
undergoes radioactive decay-

A. Isotope

B. Atom

C. Radioisotope
D. Beta Rays

The pH of Human blood is-
A. 374
B. 6.84
C. 437
D. 74

Which property of colloid is due to
diffraction of light?

A. Diffusion

B. Peptization
C. Tyndall Effect
D

. Brownian Movement

IUPAC name of CH3CHO is:

A. Acetaldehyde
B. Methyl aldehyde
C. Ethanol
D. Ethanal

78.

79.

80.

81.

82.

o & 1 STeTeTq) Tt ST ST o
ST &2

T
Mee
foreat
. SUrE Tt
fearendt § wen rfter Trfiren grar € 3fic
teamrendt eor grar -

. STTgEIe

A
B. 9
C
D

OO0 W >

D

. e smgEe
. sfter femtor

TS Toh T pH | Bl -

A. 3.74
B. 6.84
C. 437
D. 74

FHIATSE! U 3T Shi=-8T T[T JRTRT o6 FShI0
% T 22

A. foeo

B. Ucdiehr

C. RveawvE

D. et

CH3CHO T IUPAC W ;
A. TRreiceeTse

B. ferse tieerses

C. 3Hfa

D. 3o«
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83.  The Sl unit of molar conductivity is- 83.
A.

O 0w

84. Effective L-S coupling is not found- 84.
A.
B.
C.
D.

85.  Among the following the correct order 85.

mho
ohmtcm™1
szeq_1

Sm?mol 1

First transition series
Second transition series
Third transition series
All

of acidity is-

A
B
C.
D

86. Which of the following is used as an 86.

HCIO3 < HCIO4 < HCIO, < HCIO
HCIO < HCIO, < HCIO3 < HCIO,4
HCIO, < HCIO < HCIO3 < HCIO,4
HCIO4 <HCIO, < HCIO < HCIO4

indicator in the titration of a strong acid
and a weak base?

A
B.
C.
D.

87.  The molecular formula gives- 87.
A.

Phenolphthalein
Thymol blue
Fluorescein
Methyl orange

Simplest ratio of atoms

B. Actual whole number ratio of atoms
C.
D

. Natural number ratio of atoms

Whole number ratio of atoms

A. HCIO5 < HCIO, < HCIO, < HCIO
B. HCIO < HCIO, < HCIO3 < HCIO,
C. HCIO, < HCIO < HCIOz < HCIO,,
D. HCIO, < HCIO, < HCIO < HCIO;4

o 3 & Fohereht ST Seret 31T 371 geie
&I o STIHTI H eI o &9 1 fohaT ST &7
A. Tt

B. SITgHTet 5],

C. TN

D. e TSt

STV T T 2-
TRHTOLSAT ShT FLATH ST

TRHTITST 2T SReTfereh qUTEEaT 3AqaTd
THTISAT T JUEREaT ST

o w >

TRHTIT3T 2T Tehcieh ST ST
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88.  Which orbital is double dumb-bell 88. =M HT eI fgSFIcT ST T &7
shaped?
A s As
C. d C. d
D. f D. f
89.  Alkyl cyanides are isomeric with: 89. U TTETES foREh THTEE
o (HATSHIHTER) BId &2
A. Diazonium salt
A. STESIET 9T
B. Nitroalkanes
B. ARIIeHhH
C. Ethers C. o
D. Isocyanides D. AR

90. The chemical formula of Urea is: 90. it =T T H &:

A. (NHy4),CO, A. (NH4),CO,
B. (NH,)CO B. (NH,)CO

C. (NH4),CO C. (NH,4),CO
D. NH, CONH, D. NH, CONH,

91.  When a primary amine reacts with 91. e ush WTUfireh THI, ARG 37T
chloroform and ethanolic KOH then the 2HTTTeR KOH % |1 TTafsha ohiar & ar
product formed is: FeqrE 3 w9 3 T B
A. Isocyanide A, SEEEETES
C. Cyanide C. 9rEEe
D. Alcohol D. Uehied

SPACE FOR ROUGH WORK / T &t & forr sre
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92. The difference in the formula and 92. CHZ0H 3t CoH50H &7 3R

molecular masses of CH30H and TYah Zoq o 37K &
C,H50H is:
A. CH,4 3R 18u
A. CH, and 18u
B. CHj3 316
B. CHj and 16u 3 i
C. CH, and 14u C. CH, 3 14u
D. None of these D. ST ¥ g Tl
93. The standard electrode potential will be- 93. UM SIS THAT Bl &-
A. Positive A. HHS
B. Negative B. d&%cHS
C. Zero C. 33
D. Fractional number D. fo=ireneh dean

94. Butanone is four carbon compound with 94. IR HTEA AT AR SFAH H ToraTeHeh
functional group: e BT 8

A. Carboxylic acid A FEERTE ot
B. Alcohol B. Tchied
C. Ketone C. Fem
D. Aldehydes D. TcSiREe
95. Which expression is correct for- 95. AT 2HI(g) 2y + 1, % Ry i
equilibrium 2HI(g)—=H, +1,? i e 30
A Kp=Kc A Kp=Kg
B. Kc=2Kp B. Kc =2Kp
C. Kp>Kc C. Kp>Kc
D. Ky =Kc(RT)? D. Kp =Kc(RT)?
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96.

97.

98.

99.

100.

Polymerization product of propyne is:
A. Benzene

B. Ethyl benzene

C. Propyl benzene

D. Mesitylene

The helical structure of protein is
stabilized by:

A. Peptide bond

B. Dipeptide bond

C. Hydrogen bond

D. Van der Wall's forces

The isomer of ethanol is:
A. Dimethyl ether

B. Diethyl ether

C. Methanol

D. Acetone

Which of the following has a branched
chain structure?

A. Amylopectin
B. Amylose
C. Cellulose
D. Nylon

If lattice energy is high, then lattice will

be-

A. Stable

B. Unstable

C. Lessstable
D. Metastable

96.

97.

98.

100.

SO 3T SIgTIshIohtoT IS &:

© 0o w >

EEic]
3ATEA Sisfie
. SIS SISt
uffeeta

SIEH 2T S ferd TT=T o Tomiientor 4
e @

UTEE o+
SIS 78

STIeTeh Sl T | JTIeh B § STl BITT-

OO0 W >

o]
e
AT Tt
. e womeft
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101.

102.

103.

104.

The half life period of any order
reaction is 69.3 second, the rate constant
for this reaction is-

A. 102 sec

B. 10_2 sec‘l

C. 10_2 Sec
D. 10sec

Octane number of Indian Lead-free
petrol is:

A. Less than octane number of leaded
petrol

B. Equal to octane number of leaded
petrol

C. Greater than octane number of
leaded petrol

D. Not specified

Which of the following is diamagnetic?
A. CrCly
B. CuCl,
C. ZnCl,

D. CuSO,

Emulsifier is-

A. Increases dispersion

B. Homogenisation of emulsions
C. Give stability to emulsions

D. Give unstability to emulsions

101.

102.

103.

104.

TerelT Srer ehife SATMTsRaT T STH-3TTgHTeT
69.3 TehUE 2| T8 TUT hife hit 31fufspa
ST FeerieR =T AT BTT-

A. 102 Feoe

B. 1072 qwve 1

C. 1072 d=wve

D. 10 ¥sUS

TR SR Ugier ht 3T T &
A. 3T UgIe i 3T 6T § A
B. SMIRIRIH UZIeT shi ST HEAT o6 SIS
C. SMTTRIh USIet shl ST €T § Heeh
D. fifdy ==

forer 7 & = w1 wiforerehie 22

CrClg

cucl,
ZnClz

o o w >

CuSO,
TR &-
qfCdregor i cafid e &

T T FHTTTRTOT LT 2
T <Rl TR e htar &
T T STTRTAT JETH hLaT &

o 0o w >
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105. Which among the following is a 105. {3 5 & =i Ush ey foere 82
homogenous solution?

A. Cement in water A S
B. Sugar in water B. art o <
C. Sugar and sand C. =t et
D. Ice cubes in cola D. I 9% % Zhe
19 e structure of [Cu(NH3)4]2Jr is- 106 [Cu(NH:,;)Ar]ZJr ol G &-
A. Tetrahedral A. FTIHThR
B. Octahedral B. TEHASH
C. Planar C. GHde
D. Square planar D. a1 gHdei
107. The laws of Thermodynamics apply- 107. FeamTfaehT o fom @ Er &
A. only on macro systems A. HIA TS TAT T/
B. only on microscopic system B. acl g&H d=ll I
C. only on atoms C. ad T |
D. only on molecules D. A T T

108. A magnetic moment of 1.73 BM will be 108. 1.73 BM Trerehia ATl e 7 9 Wi

shown by one among the following- fora stra-

A [coclg] A coclg]*

B. [Cu(NH3)4]2+ B. [CU(NH3)4]2+
C. [Ni(CN)Ajz_ C. [Ni(CN)4]2_
D. TiCl, D. TiCly

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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109. Which of the following is used for the

110.

111.

112.

welding?
A. CH,
B. CoH,
C. CyHg
D. CaHy

Which molecule has bond order 2.5?
A. HCI

B. CO
C. NO
D. N,

Which ion has maximum magnetic
moment?

A. Tid*
B. g3+
C. Mn2t
D. 7n2+

For reaction-

CO(g) +Cl,(g)==COCl5(9)
the value of Ke will be-

Ke
A 1

RT
B. RT

C. JRT

D. 1.0

109. fa=faRead o & forerent su Afeet & folr
foparm ST 82

110.

111.

112.

o o w >

CH,
C,H,
C,Hg
CoHy

frrda fram sz 2.5 82

OoOw>

HCI
CcO
NO
N>

forer ST o1 rTehi STt SfereRay B

'

?

o0 ®p

(=N

Tid*
SCS+
Mn2+

Zn2+

FrferfeRaT
CO(g) +Cly(g) ===COCl,(g) |

A

B.
C.
D.

% T 9T E1T-

c
1

RT
RT

JRT

1.0
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113.

114.

115.

116.

Octane number of gasoline is measure
of its:

A. Knocking tendency

B. Ignition delay
C. Ignition Temperature
D. Smoke point

Which of the following statement is true
regarding the reactivity order in order to
form alkyl halides?

A. Hydrogen iodide is less than that of
hydrogen bromide

B. Hydrogen bromide is less than that
of hydrogen chloride

C. Hydrogen chloride is greater than
that of hydrogen iodide

D. Hydrogen bromide is less than that
of hydrogen iodide

Which statement is true about Helium?
A. Non-inflammable and heavy gas
B. Flammable and light gas

C. Non-inflammable and light gas

D. All the above

Which of the following ions exhibits d-d
transition and paramagnetism as well?

A crof
B. Cr207_
C. Mnog

D. MnO4_

113.

114.

115.

116.

TG Sl AT EEAT SHehT T AT 2

A. TETF 3 A TG

B. A

C. TR dud=

D. gai forg

frfaRad & @ & |1 w9 Tehgd

TATgEd S o fodr afafsramsfierar shw &

ey § TE 8

A. EEGISH STEIEEE, EEGINH SIS §
Y BT 8

B. TESH JMEE, TRSSH FANES 8
9 BT §

C. TIESINH FANIEE, BIEGISH TTATSTES &
a1fere gram €

D. TESISH SIUTEE, TSN ARISEE &
BT &

ST o I T I 91 9 g 82
. ST o il T

SIATIA I Boohl T

TSI I gohl T

. I9UH |+t

OO0 w >

e 5§ I |1 AT d-d EehAT 3R
Ferhed ot ot wraffa e €2

A. croz-
B. cr,0%
C. Mno;

D. Mnoﬁ_
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117. The most convenient method to prepare 117. s M el TTATIETC THIT S i ot

an amine containing one C atom less is: gfererse fafer &
A. Gabriel phthalimide synthesis A. Tfsre wenformse gogyor
B. Reductive amination of aldehyde B. Ufverse & fiefrea wihem
C. Hoffman bromide reaction C. TI®E SITHTSS W shat
D. Reduction of isonitriles D. STEHHIEIEAH g
118. polyhalogen compound which is useful 118. diciieciism 1Mk S ST o H Her
in extinguishing fires is: BT E:
A. Dichloromethane A. SEFAHET
B. Trichloromethane B. g
C. Triiodomethane C. TS
D. Tetrachloromethane D. ZEARHaT
119. Which of the following is resp(;nsible 119. wifeeht qfe 7 foreea o worr ik g &-
’f:r vg;:;r;(r:]y in Schottky defect? A SR
B. Cation and Anion B e T e =1
C. Anion C. O 1
D. Atom D. 9T =1
120. The mathematical equation of the first 120. FeATTiaehT 3 S T3 ot Tt afienor
Law of thermodynamics is- -
A. OE=PoV-0q A. OE=PoV-dq
" (& " (&)
C. 6E=0q-PoV C. OE=0dq-PoV
D. H=E+PV D. H=E+PV

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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121.

122.

123.

124.

PART - 111 (A)

Candidates who have opted for
Mathematics at the time of application,
should solve this section and candidates
who have opted for Biology at the time

of application, should not solve this
section.

Mathematics

Find the angle between the lines
(x2 + y2)sin2 o= (xcosp—ysin [3)2

A o B. 2a

C. B D. 2B

lim (—2— 5 j is equal to-
X—>0\x“ sin“Xx

A 0

B. 3

C %

D -7

If z = 3 + 4i, then the value of | Z| is-
A 0 B. 3

C. 4 D. 5

The equation of the normal to the circle

X2 + y2 = 2x, which is parallel to the
line Xx+2y =3 is-

A 2x-y=1
B. 2x+y=1
C. x-2y=1
D. x+2y=1

121.

122.

123.

124.

S SFiEai 3 3o o W TITd
T <A1 T, o 36 W1 1 Al SR o
IFIGEI 3 HTAEH o T S TR
forshed AT o, F 38 90T A 5o A Y |

it

st
(x? +y?)sin? o = (x cosp—ysinp)>
off=r 1o 1 RIfSTT-

A. o B. 2a

C. B D. 28
Hmﬂ%— ijﬁ%wm%
Xx—=>0\x“ sin“x

A. 0

B. 3

c. %

D. _%

afgz =3+ 4i =, dr | Z| =T A B
A. 0 B. 3

C. 4 D. 5

T X2 +y? =2x o SAreie o gt
N@T X + 2y =3 & THIH &-

A 2x-y=1
B. 2x+y=1
C. x-2y=1
D. x+2y=1
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125.

126.

127.

logze—logge+logy7e—.....=

A. log,3
B. e

C. logz2
D. 1

e

The optimal value of the objective
function Z = ax + by may or may not
exist, if the feasible region for LPP is-

A. circle
B. polygon
C. bounded

D. unbounded

Determine the maximum value of
z =3x+4y, if the feasible region

(shaded) for LPP is shown in figure
below

N
B

NS %,
D S ON%

216
206
226
196

O 0o w >

125.

126.

127.

logze—logge+logy7e—......=
A. log,3

B. e

C. logs2
D

e—l

% Z = ax + by T $TAH HH HiS[E &
HHAT & AT el +ft 81 & & AR LPP & ford

. dd

A T
B

C. uftereg
D

z = 3x + 4y & freRaw wT Frerifc )
af Uk LPP % fordl GTea & (STifeRa)
Frer few e fom & femman man 2

N
B

4
~

~ \ Y
DT s NG

0 AN C

216
206
226

c o w >

196
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128.

129.

130.

52 y2

Area of the ellipse —2+—2=1 is given
a b

by-

A 12ab

B. 2rab

C. mab

' 17tab
3

Six 'X" have to be placed in the squares
of the figure given below such that each
row contains at least one 'X'. The
number of ways in which this can be
done is-

26
27
22
24

o w >

If f(x)= 3x3 —5x? +2x, then the
interval for which f satisfied all the
conditions of Roll's theorem is-

A. [0,1]
B. [-1 1]
C. [-1 0]

D. [ 2]

128.

129.

130.

2 2

ﬁﬁﬁf§+§fﬂaﬂ$ma%mmm%-
a

A 2ab

B. 2mab

C. mab

D. lnab
3

S 'X' % 1 & 7S SATR(d ok T A 3
TR TET ST & foh Iedeh Ufth § 0 &
Teh X' Bl 36 i o dliohi shi G ©-

26
27
22

©c o w »

24

afe f(x) =3x5 —5x? +2x, A 98 A
fore o £ Tt o o Y wfcrstel <t s
LT &, BNTI-

A. [0,1]
B. [-11]
C. [-1 0]
D. 1 2]
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131. Distance of a plane 2x -3y +4z—-6=0 131. @wdd 2x -3y +4z -6 =0 % AaAfeig &

from the origin is- aﬁ%
A b6 A 6
V29 J29
B. 3 B. 3
NE] Vi3
C. 6v29 . 6429
D. 133 D. 13V3
132. If 2x+y+X1 =0 is a normal to the 132 ot qraer V2 = —8x %1 sTfirei
parabola y2 =—8x, then the value of A 2X+y+A =0 &, A T T ENT-
Is-
A. 24
A. 24
B. -16 B. 16
C. -8 c. -8
D. 24 D. 24
133. The feasible region determined by the 133. yfeerem x +y <4, x>0, y >0 gry ferif
constraints x+y<4, x>0,y >0 lies e & ffea gm-
in- .
, A, I g H
A. First Quadrant .
B. Second Quadrant B. fadt |Oz|ziz |
C. Third Quadrant C. T =quisrd
D. Fourth Quadrant D. a@ai%@m‘srﬁ
134. Number of real roots of the equation 134, o oSNX _g=SINX _ g _0 %
esinx_e—sinx_4:0 e Tl B
A 1l A 1
B. 0 B. 0
C. 2 C. 2
D. 3 D. 3

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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135. Feasible region is the set of points 135. gy &b 3 feigatl 1 |vE & S HqE

which satisfy- =
A. The objective function A. I B hl
B. Some of the given constraints B. i@ﬁa@gﬁaﬁqﬁ
C. All of the given constraints C. g+ fevma yfgsen =1
D. None of these D. 34 | IS Tl
136. Direction cosines of normal on the plane 136. gudet 3x +4y +12z =52 I 1fvreis
3X+4y+12z =52 are- ﬁa,:ﬁwq%
A. 3,4,12 A. 3,4,12
B. -3 -4-12 B. -3, —4,-12
C.3 412 C. 3 412
13'13" 13 13'13"13
D. 3 4 12 D. 3 4 12
137. In a LPP objective function is always- 137. ueh s TmfeT @9t (LPP) | 383
A. Cubic T SR €l -
_ A. B
B. Quadratic I
C. Constant C. fonis
D. Linear D Yas
138. If the latus rectum of an ellipse is equal 138. fc EET T IcchradT 36 T-37& o AT
to half of its minor-axis, then its ¥ I ® 99 3T SchesdT 2IM-
eccentricity is-
A1 A1
el V3
B. \3 B. ﬁ
o 2
C. 2 C. 2
NG V3
D. 3 D. 3
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202062-VZGSH-ENT-GM-M 43 Set- A



139 e equation 6sin®0—5sin0+1=0 is 139 gefieror 65in2 0—5sin0+1=0 FrA i@
satisfied by- fore 9T =T EqE HEm?
A. % A. %
B. % B. %
C. % C. %
D. 7/ A
140. 1f the 7" term of a H.P. is 8 and 8™ term 140. gfe ueh gtrenes Aft o1 7 o 4e 8 & aUT 8 I
is 7, then its 15" term is- yg 7 &, qe 36 Suft 7 15 91 ug &-
A. 16 A. 16
B. 14 B. 14
c. 27 C. 27
14 H
D. 56 D. 56
15 15
141. Consider the below data 141. =9 ey ST W R
X 100 0.5 1.0 X (00 0.5 1.0
f(x) | 0.1 |0.07547]0.05882 f(x) | 0.1 |0.07547]0.05882
1 1
The value of jf(x)dx by Simpson's forrmm & 13w a J'f(x)dx EaRIC]
0 0
1/3' rule will be- 2T
A. 0.07678 A. 0.07678
B. 0.05678 B. 0.05678
C. 0.06787 C. 0.06787
D. 0.08767 D. 0.08767
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142. _cotx-Y 142 cotx
The value of lim —2X js-

x—0 X x—0
A 1 A 1
B- % B %
C. % C. %
D. _% D _%
143. The common tangent to the parabola 143. et y2 = dax @ X2 = day ¥ R
y? =4ax and x° =4day is- ST w3 @ B-
A x+y+a=0 A. x+y+a=0
B. x+y-a=0 B. x+y-a=0
C. x-y+a=0 C. x-y+a=0
D. x-y-a=0 D. x-y-a=0
144 ¢ 1, w, w2,....., w" are the n roots 144. a1, w, w2, w1 THTS % n A <,

of unity, then
1-w) @L-w?)....A—w") equals-

A 0
A 0
B 1 B. 1
C. n C.n
D n2 D. n2
145. 12 22 32 145. 12 22 32
22 2 42|_ 02 2 42|_
32 42 52 32 42 52
A. -8 A. -8
B. 8 B. 8
C. 0 C. 0
D. -6 D. -6
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146. n 146. n
The value of 2(—1)'r'r2'”cr is equal > (-1 -r?."C, HTHME-
r=0 r=0
to-
A.n
A. n
B. _n B. -n
C. (n+1) C. (n+1)
D. None of these D. ¥ ®IE T
147. The solution of the 147.

(D% —5D+6)y = 46X +5 & B-
(D? —5D +6)y =4eX +5 is-

A. 2X 3x X, 5
y=0Ce"" +Coe”" +2e” +

B. |, _ a3
B. y=cle3x+c2x+c3 Yy =C1€”" +CoX +C3
, 4
C.oy=ce™+coyx+cy Cy=ce™ +epxcy
Dy = ce® + 4c,x + 4c5 Dy = ce® +4c,x + 4c,
148. The maximum value of sinBcos0 is- 148. sin@cos O T AferehRaH O 2-
A 1l A 1l
B _% B _%
C. % C. %
D D
Y Y
149. 2 149. 2
If y=3% thend—g is- Zﬂ%’y:BX%Fﬁd—g -
dx dx
A x(x-1)3*2 A x(x-1)3*2
B. 1 B. 1
C. log3 C. log3
P y(log3)? P y(log3)?
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150.

151.

152.

153.

If f(x) :i—log(1+ X), X >0 then f
X+1

is-

A. An increasing function

B. A decreasing function

C. Both increasing & decreasing
function

D. Neither increasing nor decreasing
function

The value of

. (1 1 1 1) .
Iim | = +—+——+.....+— | is-
nswo\N N+l n+2 3n

A. log,
B. logs
C. —logs
D. None of these

A shopkeeper sells three varieties of
perfumes and he has a large number of
bottles of the same size of each variety
in his stock. There are 5 places in a row
in his showcase. The number of
different ways of displaying the three
varieties of perfumes in the showcase is-

A. 6

B. 50
C. 150
D. 250

The Newton-Raphson method fails if-
A. f'(xg)=0

B. f(x0)=0
C. f"(xg)=0
D.

None of these

150.

151.

152.

153.

Zl‘ﬁ:’f(x):i—log(ux),x>0 g
X+1

QT:B_

A. FHAHE BT &

S %ol &

C. T qAT BHHM ST TR T Head
g

D. T e X 7 & BEWH Beld §

lim (1+L+L+ ..... +i)6h‘r
nso\N N+l n+2 3n

M 8-

W

A. log,
B. logs
C. —logs
D. 7 & IS T

Teh GohTER 1 JohTL oh TLRYH sl & 3T
3Gk T2k T Tk ToheH o THT TR shl
TS TEAT § Slidct 8| 3 IMehd § U Ufth
T 5 T ) SMTeRd | A TR o TORH i
Jef3ta s o fafim adient i T &-

6

50

150

250

IEA-THE farfer foree &t St 2 Afa-
f'(Xp) =0

f(xg) =0

f"(xg) =0

. TTH A 1S T

© o0 w>»

OO0 w >
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154. If the direction ratio of a line is given by
—18, 12, —4 then its direction cosine is-
A -1 3 -2
11'11° 11
B. -9 2 1
11'11'11
C. 9 6 -2
11'11" 11
D. 9 3 -7

1111 11

155. The centre of the ellipse
(x+y-2)°  (x-y)° _ o
9 16
A. (0,0)
B. (L,0)
C. (0,1)
D. (1,1)

156. The equation of the parabola whose
focus is at (-1, —2) and the directrix is

the straight line x—2y+3=0 is-
A. 4x2+y2+4xy+4x+
32y+16=0
x? +y?
y© +Xy+2X +
2y+5=0
C. x2+y2+2x+
2y+16=0
D. 3x2+3y2+4xy+
16x+16y+5=0

154. 7fg weh v o faeh S 18,12, — 4

a

A

155.

ny

OO0 w>»

3aeh o hiwar Brfi-
-1 3 =2

111 11
9 2 1

111 11
9 6 -2

11111
9 3 -7

11'11" 11

° 9 16

. (0,0)

. (1,0)

. (0,1)
@)

i OV Wy

156. oxaerr st wHteRToT foreent Ay (-1, —2)

g, qur frar x—2y+3=0 -
A.

4x2 +y2 +4xy +4X +
32y+16=0

x2+y2+xy+2x+

2y+5=0
x2+y2+2x+
2y+16=0

3x2 +3y2 +4xy +
16x+16y+5=0
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157. The distance of the point (3, 5) from the 157. W@ x -2y =1 & guiat i} 7E, @

line 2x +3y—14 =0 measured parallel 2x+3y—14=0 A fig (3, 5) a0 &-
to line x—2y =1 is- ° °
AT AL
L 5
5
B. L B. %
13 13
C. V5 C. V5
D. 3 D. (13
158. The value of m for which y =mx+6 is 158. afgw@r y=mx+6 , rfauae
Y’ Y i St
a tangent to the hyperbola — -2 =1 BAN. m— ¥, el m T A
’ YPETDOR 100 " 49 100 49 o
is- 2TT-
A. E A 7
20 20
B. 17 B. 7
21 21
C. 20 C. 20
17 17
D. [a1 D a1
17 17
159. If arg(z) <0, then arg(-z) —arg(z) is 159. =fg arg(z) <0, aa arg(—z) —arg(z) sRTER
equal to- z-
A n B. —=x A T B. —x
C. —=ml/2 D. n/2 C. —ml/2 D. nn/2
160. You are given digits 2, 3, 4, 6 and 7. In 160. 3TT9eRt 374k 2, 3, 4, 6 3R 7 fed T &) 31
how many ways you can form a number fhdy aerT O 37eRT Sl Tra) & o i
of 3 digit without repetition of digits, : : a°~ - &
which is odd and greater than 300? A EHT asitf it
300 @ 3ferh 22
A. 27 B. 18
A. 27 B. 18
C. 12 D. 15 C. 12 D. 15

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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161. If A’ is the transpose of a square matrix 161. fe ot 3T1egg A T UNEd A’ € d-

A, then- Alel A
A |Al£|A] A A=A
B. |Al=|A| B. [Al=]A]
C. |A|+|A'|=0 C. |A|+|A'|=0
D. |A|=|A’| only when Ais D. |A|=|A"| ¥ e A THHT R
symmetric
162 1f aX =Y =¢c? and a, b, c are in G.P., 162 afy aX =bY =¢? qura, b, cTT.AHE, W
then x, y, z are in- X, y, z Bl
A. AP A. T gt
B. G.P. B. TUIRR 2oft
C. H.P. C. T Aoff
D. None of these D. 34 | IS Tl
163. perimeter of the triangle generated by 163. gfasit 3i + 4]+ 5k, 4i —3j—5k 3w 70 + ]
the vectors 3i +4j+5k, 4i —3j—5k and g 94 B &1 9fEmm £-
7i+] is-
A. 15
A. 15
B.
B. 1502 152
C. 15 C. 15
) 2
D. E D. 15
7 7
164. 1 1 164. 1 1
What will be the value of j—dx by j—dx FIAA h=0.25% o1&
01+x 01+x
Trapezoidal rule for h = 0.25? AR (JUSTTgee) i & g
A. 0.6870 A. 0.6870
B. 0.6950 B. 0.6950
C. 0.6677 C. 0.6677
D. 0.3597 D. 0.3597

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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165.

166.

167.

168.

What is the chance of getting at least
one defective item if 3 items are drawn
randomly from a lot containing 6 items
of which 2 are defective items?

A. 0.30
B. 0.20
C. 0.80
D. 0.50

If the third term in the expansion of

| 5
[x +X Oglox} is 108 then x must be-

A 1
B. i0
C. 10
D. 10—3/5

Perpendicular distance of a point
(4,3,5) from the xy-plane is-

A. 5

B. 4

C. 10

D. 3

The solution of j—y:ex‘y +x%7Y is-
X

A. 3

165.

166.

167.

168.

HH © % Teh 1901 & STH A sh
HTEAT T &, A 3 AT I ATGFoah &G
¥ 6 AT aTel @9 H FeRTe S 8 s
2 &L S 82

A. 0.30

B. 0.20
C. 0.80
D. 0.50

afg [x+x|oglox]s % TR | e I

10° 2 99 x s1avT BAT-
1

B. i0
C. 10

>

feig (4,3,5) st xy-THde & Tiererd gl &-

N

C. 10

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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169.

170.

171.

If the eccentricity of the two ellipses

2 2 2 2
X Y _gand XY
169 25 a2 b2

then the value of a/b is-

=1 are equal

A5

The angle between the tangents drawn
from the origin to the parabola

y2 =4a(x—a) is-
A. 90°
B. 30°

C tan_11
2

D. 45°

1
A=
6

A+A'" is symmetric

5
} Then-
7

A—A’" is symmetric

A+ A’ is skew symmetric

o o0 w »

AA’ is symmetric

169.

170.

171.

NIV
it 2 drefeai +2—5=1Er9ﬂ

<

2 2
X—2+Z—2:1aﬁaﬁ!amﬁwm%,aaa/b
a

T HH 2TT-

A 5

uaﬁa@ftr{amy =4a(x —a) W Ra=f
ﬂ?wﬁ‘{@aﬁ%aﬁaaﬁraﬁw%

A. 90°
B. 30°

aﬁA:[l 5}?@[—
6 7

A+A’ TafiEa e
A—A'gufia ®

A+ A’ foom ufia 2
AA' T ?

c o w »

202062-VZGSH-ENT-GM-M
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172.

173.

174.

175.

If z is any complex number such that

z +1 =1, then the value of 2% +i
z 2%

is-

A 1

B. -1

C. 2

D. -2

_1-iV3
T 14iV3

A. 60°

If z then arg (z) is-

B. 120°

C. 240° D. 300°

If A and B are arbitrary square matrices
of the same order then-

A. (AB) =A'B'
B. (A!)! (BI)I — BIAV
C. (A+B)=A'-B

D. (AB)=BA'

What is the percentage decrease in an
interval containing root after iteration is
applied by Bisection Method?

A. 20% B. 30%

C. 40% D. 50%

172.

173.

174.

175.

gfe 1S witqy g=ar z @ g ® fom

z+1=1,aa 299+i T A 8-
7 ;99

A 1l

B. -1

C. 2

D. -2

1-iv3 '

QﬁZ:—,War V4 %—
1+iv3 e

A. 60° B. 120°

C. 240° D. 300°

A A TAT B HHH TS o Too ol ST
g, del-

A. (AB) =A'B'

B. (A)(B) =BA’

C. (A+B)=A'—B'
D

(AB) =B'A’

TGS ferfer g gt ] shid o 36
aferrer H fope wfcrerar ot ahet 2t & foret

T HTAT ST &2
A. 20% B. 30%

C. 40% D. 50%

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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176. The total number of ways of selecting
10 balls out of an unlimited number of
identical white, red and blue balls is

equal to-
A 12 C,

B.

C.

D.

12 Cs
10 C,

10 Cs

177. Total number of 3 letters words that can
be formed from the letter of the word
'SAHARANPUR' is equal to-

A

210

. 237
. 247
. 227

178.

D.

B
C
D

2
—+
1
A
B
C

1
e

4e

179. The length of tangent from (0, 0) to the
circle 2(x2 +y2) +X—-y+5=0 is-

176.

177.

178.

179.

Teh YU e, ATl R el Tiat ht
ST H&AT H | 10 7ia1 o1 A o aLent
T et HEAT B-

A 12,

B. 12¢,
C. 10C2

D. 10C3

'SAHARANPUR!' ¥16€ & 37&f0 ¥ & Tl
i 3Ta ey YTeaT Sh et TEAT -

A. 210

B. 237
C. 247
D. 227

2 6 12 20
+—+=—+

D. 4e

(0,0) AT 2(x° +y?) +X—y+5=0 W
TSt @ A AT &

A. \/g A \/g
2 2
C. ﬁ C. ﬁ
2 2
D. 2 D. 2
SPACE FOR ROUGH WORK / &% &Td & for&r sre
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180.

181.

182.

183.

- -
If a and b are two vectors, then

which of the following statement is not
true?

The value of the integral J' | X |dx is

-1
equal to-
A 0 B. %
C. 1 D. 2
. 1-sin®x .
lim ——— is-

X—n/2 0032 X

A %
B. 0
C. %
D. _%
The solution of the differential equation
(x+y+1)d—y:1 is-
dx

A x=ceY+y+2

B. x=ce¥-y+2
C.ox=ce¥-y-2
D.

x=ceY+y—2

180.

181.

182.

183.

afx a aun b =S draRw s, @ Fer ity
I |1 Y T o 27

A -5 >
a-b

B. -
a-b

[N

GHTFEH || X |dx T =T SR &
)

A 0 B. %
C. 1 D. 2
— 1 3

lim 1-sin” X 5

X—>1/2 (;052 X

A%
B. 0
C.%
D

%

aa$aaﬁamru+y+ngleaﬂaﬁ
X

ol

x=ceY +y+2
x=ce¥ —y+2

x=ce¥—y-2

o o w »

x=ceY +y-2

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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184. The value of the determinant

185.

186.

1 1 1

A 1
B. -1
C. 0
D. 2
—> A A~ A —> ~n A A
If a=1-7]+7k and b =3i-2]+2k
- -
then |a x b |=
A 172 B. 217
C. 2v19 D. 19V2

If position vectors of P and Q are
3f+5]—7l2 and 5?—4]+ R,
respectively then the unit vector in

- - _>.

the direction of PQ is-
A. 2i-9j+8k
B. 2i-9j+8k

V149
C. 2i-9j+8k

V129
D. 2i-9j+8k

7

184.

185.

186.

afe P Q & Reafa wfesr shosr:
3i+5j—7k
A ~ ~ — >

F 5i—4j+k &, @ PQ 3 s aos
gfewr &
A. 2i-9j+8k
B. 2i-9j+8k

V149
C. 2i-9j+8k

V129
D. 2i-9j+8k

7
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187. The degree of the differential equation 187. gt GHteRtor

) (ay? o (dy) a2y Y dyy2 d2y
") +(—) =Xsin| —= | I5- — +(—) =Xxsin| —2 | e
dx dx dx dx? dx dx?
A 2 e
B. 1 A. 2
B. 1
C. 3
C. 3
D. None of these D. T & s Tet
188. Ifeand e, are the eccentricities of the 188. o ot xy = c? qen
hyperbolas xy =c* and x*—y* =a?, x? —y? =a2 I Ieshegard e AT e &
2 -
then (e+e;7)“ is equal to- o (e+e1)2 _
A. 2 A 2
B. 4 B. 4
C. 6 C. 6
D. 8 D 8
189 1t h2 —ap , then the lines represented by 189 af h2 —ab , T ax? +2hxy +by? =0
ax? + 2hxy +by? =0 are- T T T gl
A. Parallel A. gHIGT
B. Perpendicular B. T Seeq
C. Coincident C. gurdt
D. Imaginary D. U
190. Angle between planes 2x—y+z =6 190. goaell 2X—y+2=6 QAT X+y+22=7
and x+y+2z=7 is- o Sfi=T T ShITT 2-
A. 36° A. 36°
B. 45° B. 45°
C. Q° C. 0°
D. 60° D. 60°
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191.

192.

193.

194.

Three numbers are in G.P. If we double
the middle term, we get an A.P. Then
the common ratio of the G.P. equals-

A 2443
B. 3+2
C. 345

D. 5443

The regression coefficients remain
unchanged due to a-

A. Shift of origin
B. Shift of scale
C. Both (A) and (B)
D. (A)or(B)

If the regression line of y on x that of x
ony are given by y=-2x+3 and

8X = —y+3 respectively. What is the
coefficient of correlation between x and
y?

A. 05

° Ve

C. 05
D. 0.25

If A is a square matrix such that
| A| =2 then for any positive integer

n, | A" | is equal to-
A. 0
B. 2n
C. 2n

D. n2

191.

192.

193.

194.

i e uirer 2ioft 7 €, afe g0 wer ue
%! AT Ld € dl g4 Teh SHiaL A0t 916
BIT &, T TUIR 207t T WIS ST
2ATT-

c 0o w>
w
H
S

e TR STafafda T § S@-
A. T foig o sreetra

B. M ¥ seaE

C. (A) 3R (B)qMFl

D. (A) 39aT (B)

IS y 9 x TUT x Ty st T @t

AT Y =—2X +3 qAT 8X =—y + 3 Bl a9
x HI y o sff=r Tredisie TUTieh 1 82

A. 05

° e

C. 05
D. 0.25

IS o 71 HATE A 39 TN & o6

|A| =2, 39 s GTeH I n 6 ford
|A" | =

A. 0

2n

2n

n2

O 0w

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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195. i 195. i
‘(1+i)(2—+_lj‘ is equal to- ‘(1 )(ﬂ)‘ S 2-
3+i 3+i
A1 A 1
2 2
B. l B. l
2 2
C. 1 C. 1
D. -1 D. 1
196. Direction cosines of the line 196. 3x+1 3y+z z .
3+l _3By+z_z ey 3 6 Zzaﬁﬁaﬁa;'“q'q
-3 6 -1 -
A L2 A L2
3 3 31 31
5 121 5 121
3 1 3|
i ¢ 1,41
2 2
. -1 2 - D. 1 2 -
NG N AN AN
197. 197. .
The value of sin_l(sinz—;) is- sin_l(sinz—;) T O 8-
A. % A. %
B. % B. %
C. % C. %
D. % D. %

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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198. Two dice are thrown simultaneously. 198. 3 9i® Ush G theh ST & &F HEATE 9TH

What is the probability of getting two T T TR T & T TUFHeT Th
numbers whose product is even? >

Y e 27

A. % A 3
4

B. 1 B. 1
> i

C. 3 C. 3
8 8

D. 5 D. 5
10 10

199 4 1y8 1 1—i)® is equal to- 199 1 4iy8 4 a—i)® s &
A 2+ A 2+
B. 2-10i B. 2-10i
C. —2-10i C. —2-10i
D. —-2+i D. —-2+i

200. The rate of convergence of Regula-Falsi 200. “rerT-wrew fofer o At i & 8-

method is-

A. Tt
A. Constant
B. Linear B.
C. Quadratic C. feamd
D. Cubic D. PBrem

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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Candidates who have opted for Biology

PART - 111 (B)

at the time of application, should solve

this section and candidates who have

opted for Mathematics at the time of

application, should not solve this
section.

Biology

121. photorespiration also known as-

A.

Oxidative photosynthetic carbon
cycle

Cz cycle or glycolate pathway

C. Peroxisomal respiration

D.

All of the above

122. Endosperm is a triploid tissues
composed of-

A

Two paternal and one maternal sets
of chromosomes

One paternal and one maternal sets
of chromosome

Two maternal sets of chromosome

Two maternal and one paternal sets
of chromosome

123. Which of the elements are not called as
major elements or macronutrients?

A
B.
C.

D.

N, P and K
Fe, Zn and Mo
C,Hand O
Ca, Sand Mg

o Srfieamt = s1ree o v i foem
forshe =T o, 3 39 9T R g Y ST o
IR = STTAe o GHY IOTA okl faehed

aﬁm,ésqmaﬁga_qﬁaﬁl

RIERERICH

121. YeRTST F6 T 36 AT & o SIHT ST -

A. ARSI TehTeT ToJH0T HTei <sh
B. C, ¥ I TATShIAE I
C. Wi ge
D. IWRh a4t
122. yordi T fgueiTse Sdeh & ST o1 8T &-
A. PR 3T T HIAT % Te T[T A1 hl EEeAT
EGY
B. ek Uk Td HIAT o Tk TUrEAT hi
@& 5
C. T o & TURET ol HE&AT T
D. QT % &1 T&f Ut o Uk UGt ohl
& g
123. 599 & S & Tcd T AT e e
&2
A. N,PTEK
B. Fe, ZnTd Mo
C. CCHTWO
D. Ca, ST Mg
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202062-VZGSH-ENT-GM-M

61

Set - A



124.

125.

126.

127.

Mycoplasma belong to the bacterial
class of-

A. Archaebacteria
B. Mollicutes

C. Shizomycetes

D. None of the above

Diploblastic Embryonic condition refers

A. Spong
B. Placozoan
C. Coelenterata

D. All of these

The International Day against Drug
Abuse and Illicit Trafficking is
celebrated on-

A. 12" August
B. 26" August
C. 26" June

D. 1% December

The skull is composed of two sets of
bones, namely cranial and facial bones
that totals to-

A. 14 Bones
B. 22 Bones
C. 08 Bones
D. 18 Bones

124.

125.

126.

127.

HIZehICATSHT ST Y shetl & Helferd 2-
. AT ST

c o w >
%

Tefieft qaTetl o Ho TR AT TRl

| femwst

FITE Aot ar ST o Tiea™ § a1 3,
FUTCATT HIT ST STt SRt et AT

ny

14 Attt
22 ATt
08 1fkerat
18 Afert

o o w >
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128. The mainly ----- type of smoking. 128. gy & q&d: - BEAY

A. Smoke A. g3t
B. Chew B. <&Ml
C. Sniff tobacco C. dwsITe goT
D. All of these D. Jaft
129. The method of producing thousands of 129. 3o Ha¢ ST TSIRT shl E&AT H UTGYT i
plants through tissue culture is called- 30— L T fafer et 2-
A. Micropropagation A. gemsEdT
B. Somaclones B. dHiEAg
C. Totipotency C. qgfﬂ?ﬁrr
D. Somatic Hybrids D =il g
130. Ribosomes are formed by- 130. rgsiisim =1 fAmior 2 €, 56 g
A. Golgi bodies A. Tt e
B. Endoplasmic Reticulum B. 3Ta: Yt Sfcteht
C. Nucleus C. &5 /ATH
D. Nucleolus D. ahf-gat
131. The Kaziranga National Park is located 131. profram Tt e 31em o fEerd 8 37T -
:inféAssam and conserve ---------- wild ITS(E ST ET0T AT B
A. One horned rhino A. T ¥ et et
B. Asiatic lions B. Tf¥mns I
C. Tiger C. 9™
D. Elephant D. zTeft
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132. Immediate precursor of ethylene 132. uferefia o Ster Sw0T b1 Uil § 37 e-
biosynthesis in plants is- A RIFERIR
A. Methionine
B. S-tfearamd fuferfaa
B. S-Adenosyl Methionine
C. 1-UfHTTSFATSIIoH.- | -ShTeli o foTeh

C. 1-Aminocyclopropane-1-Carboxylic

acid (ACC) s
D. None of the above D. SWIthH § Ig Tl
133. The Gramoxone mode of Action ------- 133. graverEt fsham st adenT ----
A. Photosystem | inhibitor A. BIRITET | STeesH
B. HPPD inhibitor B. =t € s1atiuh
C. ALS inhibitor C. TUH TH a9
D. ACC-ase inhibitor D. ©H i vy qauysh
134. The cilia in protozoa is responsible for- 134. grarstre | Hifera forweh foe werre g
: 22
A. Locomotion
. A. T
B. Feeding
B. Raemn
C. Respiration
C. gaq
D. BothAand B S
135. The apparatus used for measuring the 135. FTsarHSIA SRl 19 3 foTT SURTT ShaedTdT
rate of transpiration is called as- =
A. Osmometer A ST
B. Spectrometer B. @&
C. Potometer C. qradiet
D. Flame photometer D. %q BT
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136.

137.

138.

139.

Spirogyra having the characteristics of-

A. Multicellular filamentous green
algae

B. Important source of natural
bioactive compounds ie antibiotics
and antiviral etc

C. Each filament is un branched
D. All the above

The term "life begets life™ is originate
from-

A. Cosmozoic Theory
B. Biochemical Theory
C. Biogenesis Theory
D. Mythical Theory

The sperm head contains an elongated
haploid nucleus, the anterior portion of
which is covered by cap like structure
called-

A. Acrosome
B. Spermiation
C. Sertoli cells
D

. Spermatids

Crystals of By toxin produced by some

bacteria, do not kill the bacteria
themselves because-

A. Bacteria are resistant to the toxin
B. Toxin is immature

C. Toxinis inactive
D

. Bacteria encloses in a special sac

136.

137.

138.

139.

TGS bt feraraTd &-

A. SEHIRTEHR FATHR &l aret

B. wecaqul S Afsha sl i | S
T U TR gete

C. Sk oot &1 AT ai

D. IWih &+l

"Sfie @ Stae it caf wree Y Seata
for el 3 27

A. FEHSIZS fGeaid

B. Saw@m faegia

C. TEeHa e

D. dRifure foegia

SISV o 3 A Ua distiera ST sk
TN & TIT ST STUWTT T 2t THT FTaT
¥ ST B © o e ©-

A. smfies

B. fRitem

C. el ifhTd

D

. X[ShUTIY
D ) (=N

By () STa % o 5w A g s
ST 2, TAferet Sfaoy Tt st e 7 €,
Fih

A, Sframy T o wif ferredt 2

B. 3ffe sTaftaes & 2

C. ey ffSshar & 21

D. fery Sftamo ohr fersre Sreft & firera 21
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140. The ----—-- Nomenclature was proposed 140. oo AR TR ST ahele g

by Huxley and Strickland- Wﬁ,-—mw ol
A. Binomial A. TeAmeRtoT
B. IUCN Thread B. SEIHL.UA I8
C. Trinomial C. Pue Fmer
D. All of these D. ot
141. vascular bundles conjoint, open and 141. Gea sied, Thid Tol a9 TeTh
with endarchprotoxylem present in- I IFHTSeH ST BIdT -
A. Monocotyledonous stem A. T SIS G a1
B. Dicotyledonous leaf B. feisr wf uwit
C. Dicotyledonous stem C. feefier wfig aqr
D. Dicotyledonous root DERECIEREIRESES
142. Mendel's law of segregation was given 142. e g o T STerTE A o faeara
on the basis of the- T T AT-
A. Dihybrid cross A. STSETSISIS hid
B. Monohybrid cross B. =)
C. Partial dominance C. 3HifIreh T
D. None of the above D. SWEH Y his Al
143. The following genetic disorder caused 143. faeferiga steifRre forehm st shmor X-
due to the presence of an additional ST sh Uk 3feis afafary €, e
cromasomenocys AT XY S
A. Down's Syndrome A. =T figm
B. Klinefelter's Syndrome B. FTsTtheet figm
C. Turner's Syndrome C. Tt figm
D. Colour Blindness D. guferar
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144. The thyroid gland is composed of two 144. gratize Heft a1 ferat o o+ Breft & 3T

lobes which are located on- Ruq ard 8-
A. Dorsal side of Forebrain A. ik % quRr v A
B. Between lungs behind sternum B. %% o I, SURY F Y
C. Either side of the trachea C. =T Telt & 2T 377
D. Anterior part of each kidney D. S Ik 3 A A1 &
145. Most important function of Mn is in- 145. Mn 1 €8 HEEYU T ©-
A. Reduction of nitrate A. T3 T AT
B. Phosphate transfer reaction in B. FEIEESE JATI=T H Bk
carbohydrates metabolism AT
C. Photolysis of water and O C. ST To39uT 3R o STet 3 STU=eT gRT
evolution in photosynthesis O T
D. None of the above D. SRIwH Y o 7
146. Site of respiration in bacteria is- 146. Sadifen o go7 T
A. Episome A. TiEm
B. Mesosome B. Hiwam
C. Ribosome C. U™
D. Microsome D. TTgshEm
147. Following plasma proteins are involved 147. fafefad welrsHT =0 s STFT IR &
in defence mechanisms of the body- fredT = % foTe e &
A. Fibrinogens A. BERENRT
B. Globulins B. @ﬂm
C. Albumins C. Wﬁ’\q
D. Serums D. g
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148.

149.

150.

151.

Binomial classification was given by

. Carolus Linnaeus

A

B. Bauhin
C. Bentham and Hooker
D

. Engler and Prantles

Marshall Nirenberg won the Noble prize
in 1968 along with Robert W Holley
and Har Govind Khorana for
deciphering the-

A. Gene

B. Gene regulation
C. Genetic code
D. Genomic library

The innermost layer lining the lumen of
the alimentary canal is the-

A. Villi
B. Muscularis
C. Serosa
D. Mucosa

Monosodium glutamate is the most
frequently used as flavor enhancer in-

A. Alcohol industry
B. Food industry
C. Chemical industry

D. Perfume industry

149.

150.

151.

. 7 U g

o

. UAT U9 9101eed

ATt Tttt = Teré Saed aieft 3R &X
TMIfoiE G o |1 1968 H ST TTates i
ag o fore reret qrehR sfiar o =% ¥
S

. St e

. ST e

B CIRCXSIEER]

o 0 @ >

A

B

C. WRAIAMH
D. SA3AMH
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152.

153.

154.

155.

156.

In cell cycle, DNA synthesis takes place
during-

A. Giphase
B. Gz phase
C. M-phase
D. S-phase

Which of the following is supposed to
be precursor of florigen?

A. Auxin

B. Gibberellins
C. Cytokinin
D. ABA

Plasmodesmata are formed around
elements of-

A. Nucleus

B. Chloroplast

C. Both (A) and (B)
D.

None of the above

Nostoc and Oscillatoria are-
A. Cyanobacteria

B. Nitrogen fixing bacteria
C. Photosynthetic bacteria
D. All of the above

The characteristic feature of Benign
tumor ------

A. well differentiated mass of cell
B. localised to specific region

C. show slow growth

D. All of these

152. aif3rent =ik # foreh <, SLTA.T. 1
HoJwT BT &2
A. Gy 3Fae
B. G, 3Tae
C. M-3fae
D. S-3fae

153. g8 S ARSI ohT STIRTHT 2T 87
A. STl

IEERSEN

CIFEIRIEE]

TsiT,

154. cersrISEReT fohe dedl o =R IR TIfgd 2

O 0O

W

155. st e St -

156. fsHTg et o AT ----

. Frtees ffeq shifrenr w1 s
 ifere e o e
T S—

I ot

o0 W >
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157. pr form of phytochrome is- 157. PTgeIshi T Pr &Y 81T 8-

A. Red in colour A. AT H
B. Yellow in colour B. di&r e
C. Blue in colour C. fiadrar
D. Colourless D. TN
158. During mitosis, centromere divides of: 158. geepsfta forvrsit o SegifieR fofora g &
A. Prophase A. TTed
B. Metaphase B. W
C. Anaphase C. g
D. Telophase D. Jciithst
159. Each spermatogonium is diploid and 159. srereh phTOTS fEIfoTer BT & 37K e ar
contains- ST 8-
A. 44 chromosomes A. 44 T
B. 40 chromosomes B. 401U
C. 46 chromosomes C. 46T
D. 42 chromosomes D. 42 T
160. Two basic types of plant tissues are: 160. 3t gt aTed Idehi % THR 8
A. Meristematic and permanent tissues A. ufeenfes ud rl Sds
B. Ground and dermal tissues B. %ol Ud o= SHdsh aFf
C. Xylem and Phloem C. EcH U ¥AITH
D. All the above D. 39U &t
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161.

162.

163.

164.

Abscisic acid (ABA) is not involved in-

A. Stomatal closure in water stressed
plants

B. Senescence

C. Fruit ripening and dormancy of
seeds and buds

D. None of the above

The Wild Life Act in an Act of the
Parliament of India-

A. 1972

B. 1973

C. 1982

D. 1983

A phenomenon which results in
alteration of DNA sequences and
consequently results in changes in the

genotype and the phenotype of an
organism called-

A. Mutation

B. Sex determination

C. Chromatid

D. Base pair

STD, that can be prevented by vaccine-
A. HPV

B. Hepatitis A

C. Hepatitis B

D. All of these

161.

162.

163.

164.

TSITafde 7T (ABA) SO it et grar

-3

A. Tt Y et ared e ° G5 sig BT

B. dieii % e &

C. el 3 vk qe sfisit ST hferepratl &t
frsra

D. SWIth ¥ ¥ hig e

AT <hl ES o Ueh AT § I=asia

1972
1973

1982

c o w >

1983

EERISISRE U ER R CCRIE S|

21 T8k TRUTH &Y Sg % SR &
FIHIEEY § Iierd 31T SITdT 2 3 Fed @8-

A. IaafEdd

B. foiw fefwor

C. ®Hfes

D. Thd &R TH

T, ot Sl gy Ueht ST Hehell &
Tt

. feversiew A

. Ruefca B
g aoft

©c o w >
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165.

166.

167.

168.

169.

Cyanide resistant respiration found in:
A. Animals

B. Plants

C. Both Plants and animals

D. None of the above

Which of the cell organelle is devoid of
DNA but capable of replication?

A. Centriole
B. Plastids

C. Lysosomes
D. Ribosomes

Stomata open at night in-
A. CAM plants

B. Csplants

C. Csplants

D. None of the above

Glycolysis occurs only in:
A. Presence of O,

Absence of O,

B.
C. Both (A) and (B)
D. None of the above

The cocoons of the larvae of the
mulberry silkworm ------

A. Bombyx Mori

B. Bombyx Mulberry
C. Bombyx Cocoons
D. All of these

165. grzaTse St 4o ar ST € 39-
A. STHEd H
B. qaid
C. SHaRI qerT uiel g1 o
D. T ¥ %1 T

166. &1 |1 377 S.uA.T, Ted qIaT & <R
gfcrahfcr U ST &FHAT T 22

A. TR Fsh
B. @&
C. TTHHA
D. TeEy
167. gt quftey Tify & gerd 8-
A. CAM T
. C,My

168. TeATgehT STUEIE healel S8 Hfed BidT 8-

A
B
C. &Hi (A) W (B)
D. 3T & & i Tt

169, sTeq e e 35 el 35 e

SPACE FOR ROUGH WORK / &% &Td & for&r sre

202062-VZGSH-ENT-GM-M

Set - A



170.

171.

172.

173.

The Blastomere in the Blastocyst are
arranged into an out layer called-

A. Implantation
B. Inner cell

C. Chorionic Villi
D. Trophoblast

Universal recipients are persons with
Blood group:

A. O
AB
B
A

O 0w

A characteristic feature of the muscle
fibre is the presence of a large number
of filaments in the Sarcoplasm called-

A. Myosin

B. Sarcomere

C. Myofibrils or Myofilaments
D

. Sarcoplasm

The shape of the age pyramid of human
population reflects growth status of the
population whether it is-

A. Growing

B. Stable

C. Declining

D. All of the above

170. T Yt H HFES STl o o

171.

172.

173.

Ffed Bid & o Fad &-
ST

SR SHIfITRT

TSR

o o w >

o STeTT (AT TR T Th TS BT &
A. O

AB

B

A

O 0o ®

Bt e i e g Stz & oo
P dgait o wafter &) ford e -
A

A

S = St

Isfiger

o o w >

GufE 31 1 Wi UTHE T SRR qH Y
st Reerfar wfcfeifora e & for @r2-

A TR
B. feem®

C. |E@?
D. 39Rh G+t
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174.

175.

176.

177.

178.

If N is the population density at time t,
then its density at time t+1 is-

Nt =N +[(B+1)—-(D+E)]
Nty =Ng-[(B+1)+(D+E)]
Niyg =N +[(B+1)+(D+E)]
Niy1 =N¢=[(B+D)+(1+E)]

O O W

Role of endosperm in an embryo-

A. Secrets signals to regulate the
growth of the embryo

B. Supporting embryonic growth

C. Active role in regulation of seed
germination

D. All of the above

Common crop improvement methods
are-

A. Traditional breeding and Marker
assisted breeding

B. Transgenic technology
C. Gene editing
D. All the above

Monocots have vascular tissue system-
A. Closed type

B. Open type

C. Radial

D. Radial and exarch

The vector for "Chagas" disease caused
in humans ----------

A. Giardia
C. Plasmodium D. Leishmania

B. Trypanosoma

174.

175.

176.

177.

178.

T GHT t 9T GHS Tca N & 1 999 t+1
U ST Ecd BNTI-

Nti1=N¢+[(B+1)-(D+E)]
B. Ng1=Ng—-[(B+)+(D+E)]
C. Ny =N;+[(B+)+(D+E)]
D. Nty =N;+[(B+D)+(I1+E)]
YT 919 3T Y01 H Hrd-
AT ICATEH G YOT shi fea hi
ELERIECECTI
B. U1 g ol geam
C. sl o iepeor foframa o wfsr firen
D. Wit a+ft
AT e guw faftr &
A. IRITRER SSiE T a1 Tfees shfdr
B. ANk dehrieh!
C. StHufefen
D. 3URh T+t

>

T S O et o Haed o | 2T 8-
A. ST IRER

B. &l TR

C. e/ fssta

D. feaa ud uaeh

AT H B ATt "= T o o AT -

B. et

C. wHHIfgay  D. vt
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179. Each kidney has nearly one million 179. Je3ish gk § T 10 ARG STTee Ae1ohR

complex tubular structures called- T qrft STt €, 59 e -
A. Nephrons A. TR
B. Bowman's capsule B. &89 99
C. Columns of Bertini C W;m
D. Glomerulus D. ey
180. The Vitamin B is called- 180. faerfim B, =1 hed &-
A. Thiamine A. IR
B. Folate B. ®icie
C. Biotin C. smifeT
D. Niacin D frnfie
181. Dark period is critical in- 181. Ir=ereh Tm T1sfiT BraT & -
A. Long day plants A. Sy i ar a
B. Short day plants B. a%[gﬁﬁmwﬁqtﬁ%ﬁﬁ
C. Day neutral plants C. Radesar gty
D. All of the above D. Suoep Tt i
182. The brain can be divided into three 182. Aftaes =t frefafiad o Wi o e 9
following major parts- fersrfsra foperm mam &-
A. Association areas, hypothalamus A. 9Tl 8, SETeAy 3T yHfkdsh
and cerebral aqueduct EINC
B. Cerebrum, thalamus and B. &, Sreimg T eredoeine

hypothalamus
C. MfkasHh, Hemfass 3R ggmfeash

D. i, srHf it Feate

C. Forebrain, midbrain and hind brain

D. Pons, cerebellum and medulla
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183.

184.

185.

186.

187.

Electron microscope produce an image
of a specimen by using:

A. A beam of electrons
B. Beam of light

C. Specific fixatives
D. Specific stains

Calcium plays important role in plants
in-

A. Photosynthesis
B. Respiration

C. Signal transduction pathway as
second messenger

D. None of the above

Silk product in India ------
A. Kokrajhar B. Andhra Pradesh
C. Tamil Nadu D. All of these

Epithelium which is found in the walls
of blood vessels and air sacs of lungs
and are involved in functions like
forming a diffusion boundary:

A. Squamous Epithelium
B. Columnar Epithelium
C. Compound Epithelium
D. Ciliated Epithelium

The Vinyl chloride causes --------
A. Liver Cancer

B. Blood Cancer

C. Lung Cancer

D. Prostate Cancer

184.

185.

186.

187.

3ok ST T ATfEeh1aAl ohl farf & o Bwe
o 9T IST H TTT ST & 37 8 forerer

A. Iohl 3USHAT Ik

:
:
:
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188.

189.

190.

191.

Bacteriophases are viruses that infect
bacteria are:

A. Harmful to humans
B. Kill virus (virus eater)

C. Composed of a nucleic acid
molecule surrounded by protein
structure

D. All of the above

Genetically Modified (GM) plants have

been useful in-

A. made crops more tolerant to abiotic

stresses
B. Helped to reduce post harvest losses
C. Enhanced nutritional value

D. All of the above

In photosynthesis dark reaction or
blackman's reaction is-

A. Enzymatic and occurs in absence of
light

B. Non-enzymatic and occurs in
absence of light

C. Enzymatic and independent of light
D. None of the above

The site of glycolysis in cell is-
A. Nucleus

B. Chloroplast

C. Chromosome

D. Cytoplasm

188.

189.

190.

191.

SiforRTTRE TR 8 Sit sifore i =i w@enfid

hTd & To-

A. TSI ! THAH STIH

B. SRRH I A ATl / ST waft

C. foeteh 3T Y[ T o1 T M &
ot g% e

D. IWIh avt

AT TG (GM) T T ITART

HERI BT &-

A. 3T et & g 31k afes
AT o fHToT

B. TS THTd B ATt JohETT ohl ShH LA
)

C. W YeTe 3 Nk & | gfeg i o

D. 3wk auft

TeRTST TESNOT H SR fhaT I scishi
foram 2-
A. ST ST STaReed H qresE TR

:
g
§
1

C. g
D. shIfSmeR 5
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192. HIV destroys ------ cells

A

193. The opening of the vagina is often
covered partially by a membrane called-

A

194. plant cell differs from animal cell in

CD12 T cell

B. CD4T cell
C.
D. CDsHcell

CDs T cell

Clitoris

B. Perimetrium
C.
D. Hymen

Endometrium

having-

A
B.
C.
D.

Cell wall
Ribosomes
Cytoskeleton
None of the above

195. Prokaryotic cell division occurs
through-

A.

Cell division through mitosis

B. Cell division through meiosis
C.
D. All of the above

Binary fission

196. The embryo sac also known as-

A

Megaspore

B. Microgametophyte
C.
D. Megasporangium

Female gametophyte

193.

194.

195.

196.

G g— RITITERT T T HLAT 2

A. CD,, T Hifsmert

CD, T Shif3ren

CDs T hiIfRTHT

CD, H shif3rent

A1 T G IR T Uefel! f3reelt & iR
&Y ¥ goh gIaT 2l o hed 8-

A. WG

O 0O w

. I | § S A

ol‘l.lb.

. SHITTERT o FHEAT TSI g
. IR o6 TefeEr farvTia gr
. STgA foreue g

. 3 |t

O 0O w >

Y 1 37 A0 F ot ST 7T 8-
LT

HTShITTHEIHISE

TTaT NI

T TR

.UO.UU_>9§
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197. The number of individuals of the same 197. 36 Sifa o safra sht 98 ST S 2 s

species that have come into the habitat T AT 3 S STETE T el TR Y 37T
:‘:rao”rgde_lsewhere during the time period 3 T E
A. Population A. @y
B. Immigration B. 3fyam@d
C. Emigration C. I
D. Exponential Growth D. =i aie
198. Rubisco is exclusively found in- 198. wfereht foiy &9 | 91T 14T &-
A. Cytoplasm A. IR 5T
B. Chloroplast stroma B. &fa oas &mr
C. Mitochondrial matrix C. o FOm 4T
D. None of the above D. E;ﬁ?ﬁﬁﬁaﬁ's‘qﬁ
199. Circular DNA molecules are formed in: 199. gTehT €.TA.T, A ST &:
A. TMV A A
B. Yeast B @t
e . s s e
D. Volvox D. drcdrd
200. From which of the following did 200. freforfiaa 7 @, fores @ smefes waeniar
modern mammals rise? T 359 g3
A. Oligocene A. STt
B. Eocene B. e
C. Palaeocene C. IR
D. Miocene D. i
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SET-A

3T Sifehd T T O 36T rfereRaw 31 : 200
Time for making answers : 3 Hours Maximum Marks : 200
qNe:

1. 39 T qRedest # 19 9T - STerd 9T - itk e, fBdfta Wt - weras e, gt |9 (o) Tt e
@) e form & - 3 9T # sty ot feraror e R -

() TATAWT - wifeen o - 603k - 1-60TH
(i) TEe= 9T - @A e - 603F - 61-120 9
(iii) TAT 9WT - () IO - 803k - 121-200 T

@afemm= - 803tk - 121-200 U
TR Ua fieit 9T orframt § | et W 3 SUSIIT (1) STerET (@) % 3 I H § OMR e W
gifera &Y, T8 37k gRT S1Tae WA ane wafaa R T g |

2. g % I, €1 T OMR 3Uite (errersiie) W sifera i |

3. HUTCH, odieh T8l fhaT AT

4. Tore off T8 o HTHIe AT AN O TS WIATSEA T T SART A1 8 |

5. OMR 3TN (ATETIE) T THRT i THI THT S JATTUTT T hi/ald e 98 e T a1
ITH Ag I1 firerae onfe ug W faes wereasw o T g 9 |

Note :

1. This Question Booklet contains three Parts - First Part - Physics,
Second Part - Chemistry and Third Part (A) Mathematics (B) Biology

(i) FirstPart - Physics - 60 Marks - 1-60 Questions

(i) Second Part - Chemistry - 60 Marks - 61-120 Questions

(iii) Third Part - (A) Mathematics - 80 Marks - 121-200 Questions
(B) Biology - 80 Marks - 121-200 Questions

First & Second part are COMPULSORY. Answers of third part should be from sub part
(A) or sub part (B) chosen at the time of application.

Indicate your answers on the OMR Answer-Sheet provided.

No negative marking will be done.
Use of any type of calculator or log table and mobile phone is prohibited.

a > N

While using Answer-Sheet care should be taken so that the Answer-Sheet does not get torn
or spoiled due to folds and wrinkles.
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